LEE COUNTY, FLORIDA PROPOSAL QUOTE FORM FOR CONTAINER LUBRICANTS

DAT	E SUBMITTED: March 5, 2015	
VEN	DOR NAME: Howell Oil Company, Inc.	
то:	The Board of County Commissioners Lee County Fort Myers, Florida	
	ng carefully examined the "General Conditions", and the "Detailed Specification ained herein, the Undersigned proposes to furnish the following which meet these	
LEE ISSU	TE REQUIREMENT: IT IS THE SOLE RESPONSIBILITY OF THE VEN COUNTY PROCUREMENT MANAGEMENT WEB SITE FOR ANY PROJECT. THE COUNTY WILL POST ADDENDA TO TOWILL NOT NOTIFY.	OJECT ADDENDA
	undersigned acknowledges ipt of Addenda numbers:	·············
GRAND T	OTAL COST OF ESTIMATED EXPENDITURES SECTIONS A-G: \$_ <u>/3</u> 4	1, 322.00
THE BELC	RE-PA	ACTURER CKAGER DEALER/AGENT
SECTION Engine Oil		· ·
ITEM NO.	DESCRIPTION UNIT PRICE ESTIMATED QUANTITY/EXPENDITURE	MFG
1.	SAE 30 (Fleet) Quart (plastic) \$ 2.70 quart x 100 quarts = \$ 270.00	CAM2 Super HO SAE 30
	SAE 40 (Fleet) Quart (plastic) \$ 2.70 quart x 50 quarts = \$ 270.00	CAM2 Super HD SAE 40
2.	SAE 15W40 CJ4 (Fleet)	
	a. Quart (plastic) 4 2.70 quart x 1500 quarts = \$ 4,050.00	CAM2 Super HO Primium 15W-40
	b. 5 gal. pail \$8.22 gal. x 50 gallons = 4411-00	CAM2 Super HD Premium 15W-40
	c. 55 gal. drum \$ 7.31 gal x 6600 gallons = \$ 48,246.00	CAM2 Super HD Premium 15W-40
3.	5 W20 Synthetic Blend Motor Oil (Fleet)	
	Quart (plastic) \$ 2.45 quart x 200 quarts = \$ 490.00	CAM2 Superfro MAX Syn. Blen 5W-20
4.	5 W30 Synthetic Blend Motor Oil (Fleet & Transit)	
	Quart (re-sealable plastic) \(\frac{4}{2.45} \) quart \(\text{x} 300 \) quarts = \(\frac{5}{735.00} \)	CAM2 Super fro MAX Syn. Blend 5W-3

5.	20W50 Full Synthetic Moto	r Oil (Fleet)		- •		
	Quart (plastic) No Bid	quart x 300 quarts =No	Bid	No Bid		
	TOTAL ESTIM	AATED EXPENDITURE SEC	TION A = \$ 5	4,472.00 \$54,337.06P		
SECTION I Transmission	<u>3:</u> n Fluid (Fleet)					
ITEM NO.	<u>DESCRIPTION</u>	UNIT PRICE ESTIMATED	QUANTITY/EXPI	ENDITURE		
6.	Transynd Synthetic 55 gal. drum	\$ 27.33 gal x 1210 gal=	33, 069. 30	BP Autrus 295		
7.	Transynd Synthetic Gal.	\$ 32.33 gal x 200 gal=	\$ 6,466.00	BP Autrun 295		
8.	SAE 50 Synthetic 5 gal. pail	\$23.75 (B)	\$ 2,375.00 @ EF,\$52.0	CAM2 Synavex Trans Full SAE SO Warres Ever grand 61-5 85WING Constal Full Syn Mile SAE 50.		
9.	80-140 Synthetic 5 gal. pail	\$ 25.00 gal x 300 gal=	\$ 7,500.00	Chevian Delo Syn-Gear XDM 804		
	120 lb drum	\$ 3.72 lb x 1,000 lbs=	\$ 3,720.00	_ Chevan Delo Syn-Gear XDM 80 W		
Allis	son approved TES 468	il- Meets or exceeds the Synthetic Transmission DITURE SECTION B =	Oil.			
SECTION Grease (Flee	<u>C:</u> et & Transit)					
ITEM NO.	DESCRIPTION UNIT PRICE ESTIMATED QUANTITY/EXPENDITURE MFG					
10.	Synthetic Grease (Fleet) Tube (plastic) \$ 3.02	tube x 500 lbs = \$ 1,5	i10.00	CAM2 Ultra 500 EP # 2		
11.	Chassis Grease-Premium Lithium EP NLGI #2- Blue Grease (Fleet & Transit)					
	a. deliver in tubes \$2.5	50 pound x 1245 lbs =	3, 112.50	Chevron Multifak EP NLGI #2		
	b.120 lb. drum \$ 2 ·	20 pound x 520 lbs = \$	1,144.00	Chevan Multifuk EP NLGI #2		
	c. 400 lb. drum \$ 2.	pound x 1,200 lbs. = \$	2,520.00	Chevron Multifuk EP NLGI #2		
тот	AL ESTIMATED EXPEN	DITURE SECTION C = \$ 8	. 286.50			
SECTION Gear Lubric						
ITEM NO.	DESCRIPTION UNIT F	RICE ESTIMATED QUANT	TTY/EXPENDITU	RE MFG		
12.	Gear Lubricant - SAE 85W	7-140				
	a. Quart (plastic) #2.0	quart x 80 quarts =	\$239.20	Warren Eubriguard GL-5 85W141		

INFORMAL BID NO.: IFB150103

Warren Lubriqued GL-S 85W140 \$1.33 pound x 600 pounds = \$799.00b. 120 lb. drum gallon x 880 gal \$ 1,082.40 Warren Libriguard GL-5 854140 ≰ 1.23 c. 55 gal drum TOTAL ESTIMATED EXPENDITURE SECTION D = $4 \frac{31}{9.60}$ SECTION E: Hydraulic Fluid (Fleet & Transit) ITEM NO. DESCRIPTION UNIT PRICE ESTIMATED QUANTITY/EXPENDITURE **MFG** 13. Tractor Hydraulic Fluid (Fleet) 5 gal. pail \$ 7.40 $\text{gal } \times 500 \text{ gal} =$ \$ 3,700.00 CAM2 ProMax Tractor Hyd. Fluid Hydraulic Oil - AW - ISO 68 (Fleet) 14. CAM2 Pro Max Premium AW Hydralic 5 gal. pail \$ 6.76 \quad \text{gal. x } 300 \text{ gal.} \quad \text{ \$2,029.00} 15. Hydraulic Oil AW-ISO 32 (Transit) 5 gal pail \$ 9.55 gal x 300 gal = \$ 2,565.00 CAMZ Pro Max Premium AW Hyd. 32 55 gal Drums \$ 6.55 gal x 750 gal = \$ 4,912.50 CAMZ Pro Max Premium AW Hyd. 32 TOTAL ESTIMATED EXPENDITURE SECTION $E = \frac{13,205.50}{1}$ **SECTION F:** Wheel Bearing Grease (Fleet & Transit) ITEM NO. DESCRIPTION UNIT PRICE ESTIMATED QUANTITY/EXPENDITURE MFG 16. Wheel Bearing Grease-High Temperature a. deliver in tubes $\frac{$2.53}{}$ pound x 750 lbs = $\frac{$1,897.50}{}$ CAM2 Hi-Temp Red Lithium Complex b. 35 lb. pail \$ 2.26 pound x 210 lbs = \$ 474.60CAM2 Hi-Temp Red Lithium Complex TOTAL ESTIMATED EXPENDITURE SECTION $F = \frac{$2,372.10}{}$ **SECTION G:** Two Cycle Engine Oil (Fleet & Transit) ITEM NO. DESCRIPTION UNIT PRICE ESTIMATED QUANTITY/EXPENDITURE MFG 17. Two Cycle Engine Oil - TC/W3 Quart (re-sealable plastic) \$3.69 quart x 200 quarts = \$736.00 Warren ITASCA Murine Z-Cycle TC-W3 TOTAL ESTIMATED EXPENDITURE SECTION $G = \frac{1}{2} 736.00$ GRAND TOTAL COST OF ESTIMATED EXPENDITURES (SECTIONS A-G): \$ 134,372.00 \$ 134,372.00 \$ 134,372.00

OPTION:

Vendor can provide other product lines for Lee County to utilize on an as needed, when needed basis.				
YES	<u> </u>	NO		
		E RIGHT TO NEGOTIATE PRICING FOR LIVERY LOCATIONS AT THE COUNTY'S		
TO BE DELIVERED W AWARD AND PURCHA	ITHIN <u>2</u> ASE ORDER.	CALENDAR DAYS AFTER RECEIPT OF		
CARRIER?	WITH YOUR OW	'N VEHICLE AS OPPOSED TO COMMON		
_		and conditions of the specifications. Any to the quote may be grounds to reject the quote.		
Are there any modification YES	ons to the quote or NO	specifications?		
		is in the space below or on a separate page may be responsive or to have the award of the quote rescinded		
MODIFICATIONS: PO	age 10, Section elefed wrong M	B, Item No. 8, Mfg. Name was entered wrong. Fg. name and added correct Mfg. name and price. TH		

Bidder shall submit his/her bid on the County's Proposal Quote Form, including the firm name and authorized signature. Any blank spaces on the Proposal Quote Form, qualifying notes or exceptions, counter offers, lack of required submittals, or signatures, on County's Form may result in the Bidder/Bid being declared non-responsive by the County.

ANTI-COLLUSION STATEMENT

THE BELOW SIGNED BIDDER HAS NOT DIVULGED TO, DISCUSSED OR COMPARED HIS BID WITH OTHER BIDDERS AND HAS NOT COLLUDED WITH ANY OTHER BIDDER OR PARTIES TO A BID WHATSOEVER. NOTE; NO PREMIUMS, REBATES OR GRATUITIES TO ANY EMPLOYEE OR AGENT ARE PERMITTED EITHER WITH, PRIOR TO, OR AFTER ANY DELIVERY OF MATERIALS. ANY SUCH VIOLATION WILL RESULT IN THE CANCELLATION AND/OR RETURN OF MATERIALS (AS APPLICABLE).

FIRM NAME: Howell Oil Company, Inc.
BY (Printed): Jared flowell
BY (Signature):
TITLE: Business Development
FEDERAL ID # OR S.S.# 59-1760816
ADDRESS: 808 NW 12th St.
Belle Glade, FL 334 30
PHONE NO.: (800) 741 - 2789
FAX NO.: (561) 992- 9156
CELLULAR PHONE/PAGER NO.: (561) 261- 9378
DUNS#: <u>U8-912-0026</u>
LEE COUNTY LOCAL BUSINESS TAX ACCOUNT NUMBER:
E-MAIL ADDRESS: jared@ howelloil. com
DISADVANTAGED BUSINESS ENTERPRISE (DRF)

OPTION:

SPECIFY ALL OTHER CONTAINER PRODUCT LINES NORMALLY CARRIED AND CORRESPONDING PRICE PER UNIT BELOW. (ATTACH ADDITIONAL SHEET IF NECESSARY)

Product shall be delivered to the ordering agency in the appropriate container.

1. Ultra Pure Diesel Exhaust Fluid - Bulk (Currently selling this product to Lee Co. Solid Weste) 2.	\$ <u> . 59 / gallan</u> \$/_
3. Prestone Command HD ELC 50/50	\$ 472.26 / drum
4. Prestone Command HD Extended Service - Solso	\$ 361.43 / drum
5. Prime All Mukes All Models 50/50	\$ 340.15 / drum
6.	\$/
7	\$/
8	\$/
9	\$/
10.	\$/
11.	\$//
12.	\$/
13.	\$/
14.	\$/
15	\$/
16.	\$/
17	\$/
18.	\$/
19.	\$/
20.	\$/
21.	\$/
22.	\$/
23.	\$/
24.	\$/

AFFIDAVIT CERTIFICATION IMMIGRATION LAWS

SOLICITATION NO.: 1FB 150103

PROJECT NAME: Container Lubricants

LEE COUNTY WILL NOT INTENTIONALLY AWARD COUNTY CONTRACTS TO ANY CONTRACTOR WHO KNOWINGLY EMPLOYS UNAUTHORIZED ALIEN WORKERS, CONSTITUTING A VIOLATION OF THE EMPLOYMENT PROVISIONS CONTAINED IN 8 J.S.C. SECTION 1324 a(e) {SECTION 274A(e) OF THE IMMIGRATION AND NATIONALITY ACT ("INA").
LEE COUNTY MAY CONSIDER THE EMPLOYMENT BY ANY CONTRACTOR OF JNAUTHORIZED ALIENS A VIOLATION OF SECTION 274A(e) OF THE INA. SUCH JOLATION BY THE RECIPIENT OF THE EMPLOYMENT PROVISIONS CONTAINED IN SECTION 274A(e) OF THE INA SHALL BE GROUNDS FOR JNILATERAL CANCELLATION OF THE CONTRACT BY LEE COUNTY.
BIDDER ATTESTS THAT THEY ARE FULLY COMPLIANT WITH ALL APPLICABLE MMIGRATION LAWS (SPECIFICALLY TO THE 1986 IMMIGRATION ACT AND SUBSEQUENT AMENDMENTS).
Company Name: Howell Oil Company, Inc. Business Development 03-05-15 Signature Title Date
COUNTY OF RIM Beach
The foregoing instrument was signed and acknowledged before me this
Notary Printed Name of
EE & 9149 Aug 23, 2016 Notary Commission Number/Expiration

The signee of this Affidavit guarantee, as evidenced by the sworn affidavit required herein, the truth and accuracy of this affidavit to interrogatories hereinafter made. <u>LEE COUNTY</u> <u>RESERVES THE RIGHT TO REQUEST SUPPORTING DOCUMENTATION, AS EVIDENCE OF SERVICES PROVIDED, AT ANY TIME.</u>